- EJERCICIO 16

Hallar la suma de:
Sa42b—c; 2atdbte. 7. —Tx-dy16z; 10x—20y—fz; —5x+24y+08
Ta—db4be; —Tal4b-Ge, B =2m4Sn—6. Jn—Bn-+8; —bm-bn—=10,
R ==t B, ~Ba=20-3c; Ta—3b4-G¢; —Ba+50-J¢.
Ux=Fy-+d: =—x=yid; ~hx4-dy-9, L. ab4beted; —Bab—Dbe—3ed; Sab42
il b—e; 2a42b—-2¢; —Ra—L-+e. 1L ax—ay-az; —bax—Tay—0az; dax+Say+
frtag+ri —2p—bg+ir; pri-5q—8r. 15, ax=Ty48: —y+6—4x: D=3x+8y. '
13 —amvbme-15 G—am—antn; ——5mn-+3am,
14 2a43b; Gl—de; —a+8e.
L. =3 —dn-{Gf —m-=Gbp.
6 2e430; de—d4; SeHhs Te—l
17. 2x=ly: 52+5; Gx=4; Iy-5.
W Sad3b—c; ba—irre; —a=b—¢; Ta=bide.
10 Tedidy—4 Sy—Batd; ~pR2—6; —G+Bx—dy.
ML =men—p; m420=5; Sp—Gm+4: 2nd-hn—B.
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Hart—Jar—Tat —Hard Hpm0gny —1 Ta'FSa"E 100,

G~ Tt B[t 1) ot = 1—Tamr e 2 4 B B ) -G 1 ] Bme e 8,
Baybzdu; —dx—dy - 2430 detiy+de—du: —~9x—y+zd-2u
@bd—ctd; a—bti—d, —2a+3b~2e4d; —3a—Fb+4c—d.
bab—dlc+4ed; et 2ed -3de; Abe—2ab+tde: —Abe—Ged=—ah.

a=b; b=g; e4d: a=e: ¢=d; d=a; a=d.

@ EIERCICIO 16

Fiallar la suma de:
Sa420—¢; 2a+db+te. T. ~Tx-dyt6z; 10x—20y—fz; —5x+ 4y
Tu—db+0e; ~Totdb—Ge, g =dmdidn—6, Jon—Bu-+8; —hm-pn=10,

1= —nt—=n-4p,

Ux—dy+d: —x~y44; ~hxd-dy=9,
f-b—e; 2a42b=2¢; —Ja—L4de. 11
pqtr =2p—lq+dr; pri-Sg—8r.
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~Bar-2b-e; Ta—3b-4ie; —Ba+50—0¢
ab4leted; —Bab—dbe—ded; Sabpbd
ay--ay—az —bax—Tay—Giaz; dax+9ay+
ax—Ty+8; —pHii—4x; H-3x+8y. '

-ann v lhm=45 Gs—am—jmn; —%—>Soin+-3am,

2a+-30; Gb—4e; —a+t8e.

Bin—dm; —dn |-Gl —m—=Gp.

2a-4+0; He—d Ba-Fb: Te—=N.

2x—ly; Sz+9; 6x—4; Iy—5

fird-h—c, fa—De; —tt—b—g; Ta—bi-de,

Tetdy—4 Sy—6245; —p432—6: —G+8x—3y.

=tn=n-p; m+2n=5; Gp—Gm+4; 2n-hm—B.
St —Jarm—Ta —HevHem—0a®; —11a"F5a"+ 160",
ﬂ"'l- |_...'f+"l L :_{jml ] J-ll *mi - 1_1'1":! l-ﬂ_m.l ¥ l: —Bapa i '|.+3‘|ﬂil i "‘I‘!.Elﬂ‘ i l'
Bxdybztu; —dx—dy=EB4Hdu; detiy+ii—du; —9x—y+i2a,
@bdi—old; a—bte—d, ~2a+3b-%c4d; —3a—3b+dc—d.
hab—3be+ded; 2het2ed-3de; Abe—2ab+dde; —3be—Ged-ab.
u=b; beg; chd: 0=2: e=d: d=a: a—d.
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B EJERCICIO 16

Haltar la suma de:
Sa42b—¢; 2etdbte. T. ~Tx-4y6s 100—20p—8z; —Sx+R4yFie
Ta—db45e ~Tal4b—Ge. i =2m4dn—b, dn—Bn-+8 —hm-ba-10,
Wl —m—u4 0, —ha-20-dc; Ta—3b+4i0: —Ba+50—-3¢
Gx—dy-+i: —x—yid; ~fixddy-9, 10, abdbeded; —Bab—dbe—ded; Sab42
t|-b—e; 2a42b—-2¢; —fa—b+e. 11, ax—ay—az —bax—Tay—Gaz; dax+Say+
frrgtri —Ep—ig+3e; fri-3g—8r. 12, Se=Ty48: —p+i—dx: B-3x 18y '
15 —amevGmn-4s; Gs—am—imn; —Hs—5Smn-+3am.
14 2e43b; Gl—de; —a+8e,
L. Bm—dm —dn-5fn —m=Gp.
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a4 2h—e; 2atidbte.

Tu—db+56 —=Tol-db=Ge.

m-i-:r—-p; S

Ux—dy+d: —x~yid; ~hxddy=9, L
it b—e; 2a42h=3¢; —Ra—D-ic. |
prtq+ri —2p—Gg+30; fri-Sg—8r. 1
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2e41h; de—4; Beth: Te—h.

Ix—dyi 5245 bx—4; Jy-5.

fied-—c, ba—b+e, —a—b—e¢; Ta—bide

Te+2y—4 Sy—0245; —p+32—6; —G+8x—Jy.

=in=n—p; m+2n=5; Sp—Gm+4; In|-hn—8.

Ser'—dat—Ta" —Ber 4 Ham—0a®; —11a"F5a"+ 1hav.

nh = 1 Tnt BB 1 3] fan® = 1=Tamr # 2 pg2 4 3y B 0 L mp® 1 241 2emn 0 8,
Bxbybrda; —Ux—4y - ke dxdiydde—du; —9x—y+4242a,
afpli—cpd; a=btoi—d;, —2a+3b-2c4d;: —3a—3b+dc—d.
hab—3betded; he+2ed—3de; Abe—2ab+tde; —3be—Ged=ak.
t=b; b=c; e4d; a—e; e—d; d—a; a—d.

EJERCICIO 16

Hallar la suma de:

~Tx--dyb62; 10x—20y—8z —5x+ R4y
—dm4in—6, Jin—Bn-+8; —Hm-kn=10,
~Ba~Bb-be: Ta—Bb-4He: —Ba+bb=Je.
alid-beded; —Bab—3be—ded; Sabb2
ax—-ay—ax —bax—Tay—lez; dax+Bay+
ax—Ty+8: —pt+ii—4x; 9=3x4By. '

~ant v lmn 45 Gs—am—amn; —2—5mn+3am,

2a+4-3b; 6b—de; —ate.
Bin—3n; —dn-|-Gfy; —m—6p,
2a-+3by de—4; Ba-bb: To—l.
Sx—Uy; G245 Gx—4; Jy-5.
b3 —c, ha—iie, —a—b—¢; Ta-bide.
Te+2y—4; y—0atd; ~p432—-6: —h-+8x—By.

== m+2n=5; Sp—Gm+4; Inlhm—8.
far'—Jam—Ta" —Be4-Hev—0u®; —11a"+5a"+ 1000,
Gt = 1 <Tamm e 5 —Gpn® 3 ot = 1=Tas # 2 3 — G 0 143 0 241 20 0 8,
Bxepyebrda; —Ux—4y - 25430; dx+hydBi—du; —I9x—y+242u,
afli—cld; a=bte—d, ~2a+3b-2c4d; —3a—3b+1c—d.
bab—3betded; Mot 2ed-dde; Abe—~2ab+tde; —3be—Ged--ab.
a=t; beg; edd: a—e: c—d; d-a; a=d.
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